[TAKACHI

SOEEC- NS

BBEER/
Photo
INDEX

TSRFYI
T—2

FrUvT
=2

BhK - BAEE
iRy I 2

Bh7K - B5EE
I/
ATVUR
RyIR

RFRYIR/
FiKkax75/
=
ITSUR

T
=L/
[ %
T—2

RIS
=2

2%
T—

)J

PUPEPS
T—=2/
TU=94ZX

INR)V

SvIy—=2/
YIS5vo

R/
SvIINRIb

By —/
FvIz

77—
/HtEERE

HARY L&

Heiras)/
BETEA

Insert Nuts, Heliserts,For Plastic

SAFVvIH

EURENINESNET,

BHIICATGABEIF TR

19—k Fyh
*J3$T4Jﬂ cryk

1Y

WinEA

NI

»

=+
—b « AUY— RS

IvEVITEZARRRICTYMEIBEDAHFE T D TEVEUFHDHAUDNHEFRE T

19 —=bFvb
9

HE 1 E5pS / LR

FIRAHRA Y —hFvh

AU —p

" win | 2R . Min | 2R . Min | 2R
g1 #\‘Z?ﬁ%d) mm v12 7!"\‘3(9\\"?%(» mm v12 7ﬁ191'~‘f§¢ mm
SP-M3 M3X05P | 8~10 | 5.3 IRB-2603S | M2.6X0.45P | 5.5~6 | 3.0 2TNM-M2 | M2 X 0.4P 4~5 2.0
SP-M4 M4 xX0.7P |9.5~12| 7.4 IRB-304S M3X0.5P | 5.5~6 | 4.0 2TNM-M2.6 |M2.6 X 0.45P| 4.8 ~6 | 2.6
SP-M5 M5X0.8P | 12~14 | 8.3 IRB-404S M4 X0.7P |6.5~10| 4.0 2TNM-M3 | M3X0.5P | 48~6 | 3.0
XKEREDM2OANUT —RZEBTDIHE.
OLEEFv—b (53tLE) 0.04N-mEU T CHEDHULZEITOTLEE LY
MIxsE
[
e O O O
dRXbk © A A
BUIoTgei A& A O (@)

14-45

FIRABRA VY —bFybh

O:BNTLWS O:BLY A:ZD5

HR{151 EXAMPLE






